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Question Book Serial No. 103714 Question Booklet Series Code: B

Time Allowed: 01.30 hours GKEOM-JW-2017 Maximum Mark: 100

FH156 QA9 : 01.30 A acRe@ _ﬂlé : 100
Read the following instructions carefully before you begin to answer the ques‘uons This Booklet contains
100 objective type questions with multiple choice answers in four Sections, i.e., A, B, C & D. Section-A
contains 25 questions on General Knowledge; Section-B 25 questions on Enghsh Language; Section-C 20
questions on Odia language; and Section-D 30 questions on Arithmetic mcludmg Aptitude and Logical
reasonmg Each question of each Sectlon carries one mark. The questions in Section-D are bi-lingual, both

in Enghsh and Odia. TeCh OfWO rl d | n o
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INSTRUCTIONS FOR CANDIDATES'
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1. This Booklet contains in all 100 objective type questions with
multiple choice answers as detailed above.

2. Before answering any question, checkup the Booklet and ensurc
that it contains 16 pages and no page is missing, mutilated or
repeated. In case of any defect replace it immediately.

3. The Invigilator shall supply you the blank OMR Answer Sheet
separately. Enter your Roll Number, Question Booklet Serial
Number and Question Booklet Series Code and darken the
corresponding circle/oval provided on left side of the Answer
Sheet carefully by black/blue ball point pen only. You must also
write the name, date and center of examination and put your full
signature in the appropriate spaces provided therein before
answering any question.

4. A machine will read the coded information furnished by you in
the OMR Answer Sheet. If the information so furnished by you
are incomplete or different from what have been given in the
application form, you will be awarded Zero mark.

5. These instructions must be complied with fully failing which

3 your Answer Sheet will not be evaluated and Zero mark will be
- “awarded.

6. Answer must be given by completely blackening one of the four
circles/ovals representing the correct answer given on right side
of th8 Answer Sheet corresponding fo the relevant question
number by using Black/Blue ball point pen only. Answers not
shown by black/blue ball point pen shall not be awarded any .,

- mark.”

7. Failure to hand over the Answer Sheet to the Invigilator before
leaving the examination hall/room will make you liable to penal
action.

8. Read carefully the instructions of answermg each question
before answering it,

9. Answer the questions as quickly and caremlly as:you can. Some
- questions may be casy and others difficult. Don’t spend too
much time on any question. ;

10. No Rough work has to be done on the OMR Answer Sheet.
Space for rough work has been provided in the Questmﬂ
Booklet whereyer needed.

YQ“ '2“;;2‘“ ey into the examination hall/ room any book,

Mes or electronic devices printed/handwritten papers
except theaﬁdmzssmn Letter. i
; Ure to comply with any of the above instructions
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Section - A : General Knowledge : 25 Marks

1. Read the following statements carefully and choose which of them is/are correct by using the codes given
below.
1.The length of Odisha coast is about 480kms.
2. River Subarnarekha divides Odisha and west Bengal.
3. There were only six districts in Odisha when it became a separate state in 1936.
Codes:

(A) only 1 is correct (B) 1 & 3 are correct (C) 2 & 3 are correct (D) 1,2 & 3 are correct

2. Which of the following statements about Veer Surendra Sai is incorrect?
(A) Veer Surendra Sai first declared his revolt against the British regime in 1827,
(B) Veer Surendra Sai was kept in Asirgarh jail till the end of his life.

(C) Veer Surendra Sai breathed his last on 28.02.1884 at the age of 75.
(D) None of these

3- High fever, vomiting, diarrhoea, coughing, fatigue, muscle ache, abdominal pain, chest pain, eye infection,
bleeding nose and gums are initial symptoms of —

(A) Bird flu (B) Rabies (C) Dengue (D) None of these
4. The Supreme Court of India has laid down certain broad principles for the Prison Administration to

follow. Read the following statements and answer which of these is correct using the Codes given below.
1. A person in prison should not be treated as non-person.

2. A prisoner is entitled to all human rights within the limitations of imprisonment.
3. The sufferings of prisoner inherent in the process of incarceration should not be aggravated.

R Techofworld.In

(A1 &2 (B)2 only (C)2&3 D)1,2 &3

5. Which of the following statements about the Prison System in India is incorrect?
(A) It comes under Item No.7 in the Union List in the 7" Schedule of the Indian Constitution.
(B) The Central Government provides guidelines and assistance to the states for maintenance of the Jails.
(C) Madhya Pradesh has 11 Central Jails, the highest number, in India.

(D) Borstal Schools are detention centres for minors and juveniles to administer care, rehabilitation and
reform for young offenders.

‘?/find out which of the following statements of Invention/Discovery, Scientist & Year is incorrect?

S1. No. Invention/Discovery Scientist ' Year
L. Revolver (Pistol) Samuel Colt, USA 1835
2. Swing Machine Elias Howe, USA 1846
3: Safety Razor——————~Gillette, USA 1895
4. Television———— ] 1. Baird, Britain 1926
3. Telescope - Pascal, Italy 1609
(A) SLNo.2 (B) SINo.3 (C) SL.No.4 (D) SLNo.5

7 Which of the following statements about the Cellular Jail in Port Blair is incorrect?
(A) It was built in the shape of 07 spokes of a wheel from 1896 to 1906.
(B) Initially it had 663 Cells and later 30 Cells were added. :
(C) It housed the first batch of 200 freedom fighters transported under overall charge of Dr.JP Walker with
60 Naval brigade m d two native overseers.
(D) Tormenteq l;gy 1ivin;nc22ditions in the jail, the prisoners sat on hunger strike for 45 days betyigss
192728 i1y Mahatma Gandhi and RN Tagore intervened.
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Section - A : General Knowledge : 25 Marks

8. After the severe famine of 1866 in Odisha, the British authority built —

(A) The Puri Canal (B) The Kendrapada Canal

(C) The Bhadrak Canal (D) The Taladanda Canal
8- Which of the following pairs of disease and the affected part of human body is incorrect?

SL.No. Disease Part of human body

i. Pneumonia a. bones

ii. Sinusitis b. lungs

iil. Typhoid c. intestine

iv. Trachoma d. eye

V. Tonsillitis e. glands
(A) Only i & ij are incorrect (B) Only i & iii are incorrect
(C) Only iii & iv are incorrect (D) Only ii & iv are incorrect

10‘; Which of the following statements about the Census data of Odisha is incorrect as per Census-2011?
‘,‘ (A Populat:c?n of Odisha according to 2011 census is 4.19 crore.
(B) The density of population in Odisha per square kilometre is 270.
(C) Kandhamal district has the least density of population.
(D) The literacy rate is the highest in Balasore district.

11. Which of the following countries are respectively the largest producers of Tea, Wheat and Wool?

’_// (A) China, Bangladesh & UK (B) India, China & Australia
(C) India, Thailand & Russia (D) Bangladesh, Malaysia & USA
12. Match the following pairs of Award and its founder?
T r Kalinga Award i) Harekrushna Mahatab
2. Bisuba Samman ii) Biju Pattanaik
3. Atibadi Jagannath Das iii) Sambalpur University
4. Gangadhar National Award iv) Srujani
5. Guru Kelucharan Award - v) Odia Sahitya Academy
(A) 1-ii; 2-i; 3-v; 4-iii & 5-iv + (B) 1-ii; 2-i; 3-iv; 4-iii & 5-v
(C) 1-iv; 2-iii; 3-1; 4-ii & 5-v (D) 1-iv; 2-iii; 3-1; 4-v & 5-ii
13. Which of the following series of terms and the sports they are associated with is incorrect?
(A) Bishop, Checkmate, Gambit Stalemate Vo -Chess;
(B) Bully, Corner, Dribble, Scoop, Sudden death, Tie-breaker  -Hockey/Football
(C) Knock-out, Punch, Upper cut ; -Weightlifting

(D) Ashes, Bye, Chinaman, Cover Point, Crease, Drive, Duck  -Cricket;

14. Given below is a column of tribes/races and another column containing the places that they inhabit. Find
out the correct answer out of the four options given below showing the correct matching between them.

el SNl Tachofworld.In

ii. Gonds b. Meghalaya .
iii. Garasia c. Andaman & Nicobar

iv. Jawas d. Rajasthan

(A) i-a; ii-d; iii-c; & iv-b (B) i-d; ii-c; iii-a; & iv-b

(C) i-b; ii-a; iii-d & iv-¢ (D) i-d; ii-a; iii-c; & iv-b

15. Find out the incorrect one out of the following pairs of sportsperson and the sports he/she is associated
with,
(A) Anuradha Biswal-Atletics (B) Jyoti Sunita Kullu- Hockey
(C) Valena Valentina-Chess (D) Sradhanjali Samantaray- Football
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Section - A : General Knowledge : Z> [Vlarks

: lcutta
6. The National Anthem, Jana, Gana, Mana, composed by Rabindranath Tagore was first sung at the Calc
16. e Nal >

session of Indian National Congress on-
(A) 27" October, 1916
(C) 27™ November, 1928

(B) 26™ January, 1938
(D) 27% December, 1911

17.Match the following pairs of Odia book and its author?

1. Sarala Das i) Bhagabat

2. Jagannath Das ii) Mahabharat

3. Kanhu Charan Mahanty  iii) Lachhama

4. Fakir Mohan Senapati iv) Ha Anna

5. Gopinath Mohanty v) Amrutara Santana

(A) 1-i; 2-ii; 3-v; 4-ifi & 5-iv (B) 1-ii; 2-§; 3-iv; 4-iii & 5-v
(C) 1-iv; 2-iii; 3-i; 4-ii & 5-v (D) 1-iv; 2-iii; 3-i; 4-v & 5-ii

18. Which of the following statements is/are true?
The human skeletal system consisting of 206 long, short and irregular bones help-
i stiffen the body iii) provide levers for muscles to work
ii. protect the internal organs iv) give shape to the body

(A) only i is correct (B) only i & ii are correct
(C) only i, ii & iii are correct (D) All are correct

19. Given below is a column of towns/cities and another column containing the industries they are associated
with. Find out the correct answer out of the four options given below showing the correct matching
between them.

SLNo. Towns/cities SLNo. Industries TeChOfworldln

(s

1. Visakapatnam a. diesel locomotive
2 Varanasi b. ship-building
3. Kolar e gold field
4. Sindri d. cutlery
3. Aligarh e fertilizer
(A) 1-a; 2-b; 3-¢c; 4-d & 5-¢ i g (B) 1-d; 2-¢; 3-a; 4-b & 5-e
(C) 1-c; 2-d; 3-b; 4-a & 5-e (D) 1-b; 2-a; 3-c; 4-¢ & 5-d

20. Which of the following is not a correct statement on the Sun Temple at Konark?
(A) It took 12years to complete. -
(B) 1200 artists were engaged to finish it.
(C) Rupees 40 crores was spent on its construction.
(D) Anangabhima Dev-III built it in memory of his victory of Bengal.

21.Find out the incorrect one of the following pairs of Central Jails and their locations,

(A) Tihar Ashram- Delhj (B) Yerwada Central Jail- Bangalore
(C) Puzhal Centra] Prison- Tiruvallur (D) Naini Central Prison- Allahabad
22.Read the followin

bel g statements carefully and answer which of them is/are correct by using the codes given
elow.

1. Odisha became a part of British Empire during the reign of Lord Wellesley.

2. Mukund:-a Dev-11 was the king of Khordha when Odisha came under the British rule in 1803. ”

%Ddalhousw Wwas the Governor-General of India when Sambalpur was annexed to the British Empire.
odes: o

(A)only 1 ig correct (B) 1 & 2 are correct (C) 1, 2 & 3 are correct (D) none is correct
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Section - A : General Knowledge : 25 Marks

23. Adam’s Bridge, a 28-km long bridge of rocks and sand, connects between-

(A) Britain & Switzerland (B) India and Bafllgl?(desh
(C) Pakistan and India (D) India and Srilanka

24. Who were the 1% Governor Generals of Independent India and Pakistan?

\M/Iount Batten & Md. Alli Jinnah ]
(B) Chakravarty Rajagopalachari & Zulfiquar Alli Bhutto
(C) Jawaharlal Nehru & Khan Abdul Gaffr Khan
(D) None of these

25. Which of the following statements about Indira Gandhi is false?
(A) She was the wife of Feroz Gandhi.
(B) She was the Prime Minister of India from 1966—7_7 and 1980-84. -
(C) She joined Congress Party in 1938 and was imprisoned for 11 months in 1942

(D) She died a natural death on 31* October, 1984. TeCh OfWO rl d ) I n

Section - B : English Language : 25 Marks

26. He said to me, ‘Wait until [ come’. (Change the sentence into indirect speech)
(A) He asks me to wait until he came. (B) He told me to wait until I came.
(C) He ordered me to wait until he came. (D) He asked me to wait until I had come.

_##Nature teaches the beasts to know their friends. (Change the sentence into Passive Voice)
(A) The beasts are taught by nature to know their friends.
(B) The beasts are taught to know their friends.
(C) The beasts were taught by nature to know their friends.
(D) The beasts taught to know their friends by nature,

28. Answer the first question before you further.
(A) proceeded (B) proceed (C) have proceeded (D) are proceeding
29.. Youth is the time the seeds of character are sown. (Pick out the correct Connector to
/ —_—
Sill up the gap)
(A) where (B) in which (C) when (D) that
30.Find out the one of the following series of Vocabularies which does not match with the others.
(A) sweet, sour, salty, bitter e (B) fat, tall, dwarf, short
(C) green, red, yellow, violet (D) grain, rain, pain, chain

\Wat would I not give to see you happy! (Change the sentence into a statement)
(A) He assured that he would not withhold but give everything to see me happy.
(B) He exclaimed that he would give everything to see him happy.
(C) He wondered that he would give everything to see me happy.
(D) He declares that he gives everything to see them happy.

32. Read the following sentence and pick out the underlined part which is neither a Noun nor a

Pronoun.
A small leak may sink a great ship and all the men on board.
(A) ®) © (D) :
33. The rise and fall of the tide due to lunar eclipse.
(A) were (B) was (C) are ; (D)is
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trong was first man to walk on moon. (Pick out the correct Articles to rectify the
34. Neil Armstro

: i
sentence If requirec) (B)an & the (C)a&an

(D) none of these
(A)the & a

ﬁghts and runs away, lives to fight another day. (Pick out the correct Connector

10 fill up the gap)
(A) that (B) when

35.

(C) who (D) whom

36. Find out the correct one of the sentences given below.
= —(A) He is suffering from a fever since three days.
(B) He has been suffering from fever for the last three days.
(C) He has suffered from a fever from last three days.
(D) He was suffering from fever for the last three days.

37 His health has improved since he India.

(A) left (B) has left (C) had left (D) was leaving
38. The thief jumped the compound wall. _
(A) on (B) over (C) above (D) against

39-No other story-book is so popular as The Arabian Nights. (Change the degree of comparison
without changing its meaning)
(A) The Arabian Nights is the most popular of all story books.
(B) The Arabian Nights are more popular than some other story books.
(C) The Arabian Nights is one of the most popular story books.

(D) The Arabian Nights are more popular story books. TeC h OfWO rI d » I n

yatch the Words given under Column-1 with the Meanings given under Column-I1.

SI.No. Column-I Column-II

L Indispensable i. contrary to principle but useful for specific situation
2, Expedient 11. done mechanically without care and interest

! Perfunctory iii. something that cannot be avoided

4. Scrupulous iv. careful of not doing anything wrong or immoral

(A) 1-iii, 21, 3-ii, 4-iv - (B) 1-ii , 2-iv, 3-iil, 41 (C) 1, 2-iii, 3-iv, 4-ii (D) 1-iv, 2-ii, 3+, 4-iii

Instructions: Read the following passage carefully andrpick out the most appropriate one of the four
answers provided as A, B, C & D to the questions from Serial No.41 to 50 given below.

PASSAGE: It was a man who lived before the time of Christopher Columbus, who was the world’s first
great traveller. His name was Marco Polo. With his father and his uncle, he travelled from Italy to China,
crossing mountains and deserts to get there. In China, a king called Kublai Khan was pleased to see the
Polos and had them live near him. They stayed for twenty three years. Kublai Khan sent Marco to other
countries to do business for him. When Marco finally returned to Italy, he wrote all about his adventures in
a book which was read by Columbus and many other people who also became interested in travelling to
unknown countries. : :

41. Identify the type of Infinite Phrase used in the underlined part of the third sentence of the passage.

(A) Adverb Phrase (B) Adjective Phrase (C) Noun Phrase (D) Principal Phrase
42.Which of the following verbs has not been used in the fourth sentence as Finite Verb?
(A) pleased (B) had (©) live (D) none of these
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43 We know from the story that after he returned to Italy-
(A) Marco set out for a new adventure to other countries of the Far East.
(B) Marco brought out a book on his great adventures inspiring new voyages.
(C) Kublai Khan knew that Marco had crossed mountains and deserts.
(D) Marco stayed in Italy for twenty-three years

44. Identify the type of Sub-ordinate Clause used in the underlined part of the last sentence of the passage.

(A) Adverb Clause (B) Adjective Clause (C) Noun Clause (D) Principal Clause
45. Where did Marco Polo stay for 23 years?

(A) Italy (B) China

(C) Other Countries (D) Unknown Countries

46. The reason that Marco Polo is called great is that- Te Ch OfWO rI d . I n

(A) He achieved fame thanks to his good reasoning.

(B) He travelled very far to reach China, a new world.

(C) He wrote about his adventures in a book which many people read.
(D) He crossed mountains and deserts to reach China.

47. Who was the world’s 1% great traveller?

(A) Christopher Columbus (B) Marco Polo
(C) Kublai Khan (D) Father of Marco Polo
48. How many Simple Sentences are there in the passage?
(A) two (B) three (C) four (D) five
49. This passage is mainly about......... 7 '
-(A) Marco Polo and Kublai Khan (B) the way Columbus affected Polo
(C) the world’s first great traveller (D) why Polo went to the Far East

50. Which of the following verbs has been used in the third sentence as a Finite Verb?
(A) travelled (B) crossing (C) get (D) none of these
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Section - C : Odia Language : 20 Marks

FedaiaR: ﬁf,] F)Gj@ APERICY A, ATRIEA ARG IS° OF 56 FaIRe gg @oal 51 9 60 @
QAYS ARQ 79K /g |

6alorIg® aeBem 69IS g2l A2a6a | QIgEa SUSIIELRNI 6915 FeqIqn A2 | 904 609
@ 00Q 62 | F68IR1 AFR, 9], 2IA FAS A 2K 999 sniRg 88 @Z6e | 4 6e 671 QIOIE
IR 3Rg FIY 65Q RS | A8 g8el QG 0] AAN6ee ¢rad | A3 95 9eQIq 6d @
AGR 61 QIR T 26T SRGER | AL6Q SIG2IEE QORI 64 clenge 21dad | g 6QQ0
QEIF 6906R 6QA0IKA GAl A2Q 98 6AIRIRI | a2 €IoM oM enIR G dIFea QTAER |
SQFIIER A6 2gEai @6m ARIY, B8 @2g | 2167 Tas 01 &3 98919 Qg 621R @dg |

9% 026R, ¢ 735 | ¥21 4% 6Q QIRGIR QIYIQ GILRUT | 620168 KFYSI AIRE Bog F64
L6 - 62, ALIFY, e QI2Ig 6AAI 2983 ? 906 LA AT FNAIRY 6RIP RUEE 283 |

9% @U6R - 9121 96 | &g ¢ A AIF 1 92eg 2133 64 @ @IF | YA AFAEA 6I0IER

ALEARN 68IC BT 9Q° @FqI - 9% 6FlIa §@9 Qg 62IRARI | ¢ 9oN 2ITd 671 MG Zead
@082 | @3 QISR 6a 2198 601 A1 26asl 96T 2 , -

6Q0I6a ol 6aia 28 Q06M | 969 AR - QIFG, § F'G ARG ?

98 Q%6 - 6Q 0] YR | 6@ oIg @2QIg 923 | 82 680 621@ Q2RI — ¢ fIdgR 2Iad
671l RIT 26TR G86S | QIRg J 2108 RIS 6965 o 26asI 988 | 671 90d 606% 696R SIa
Qd ¢] 696901 ZITEG 6AYRIG B Aag §9R1q 26AB 9 QYR | 671 LAV 6ARITI Q4
QdQ 2@ 62RId | 60¢ ¢ FIEgR 21948 671 AIF Z6amI @E6e |

98 @d6m, G2, g6r 0] qRAIQE | 698E Ul g9l 6RIR CIS] AIE VLB GeRI, 6955
36 QIs6a ¢ aefel 9aaia, 69IR & 1 A2ag 2138 | § 6eee §ra MIF Q2aq 2138 | 6816 @2l

2GR 69R 90l Q2 SR | Techofworld.In

%Gﬂl@ QUIYEQ SIS GG?@ ARG G@G’Iﬂ @G@ 98¢ a9 |
d gom 294 64l RIT 260D *A8T |
A) (B) ©) (D)
52. ¢g, ciaiq), 2194 Q121G 26T AR ? T QIRITER Q6T A 992
fwy ® © O
53. pio6gaten 2GR RAINIRES! §9 FILETTR AXAH & & ?

/ (A) AFIREQ AR @ESIR AIRG 2GRN 62T |
(B) AFIFQ AFIB §F 6RIFG AAIR AU GRIR 99! |

(C) PIRAGER GGG SRIGT-SHeg AagRrdetal |

(D) 681%' 2GR AAIeQ QLN a@qam 6QQl | <
42ge coImE 79
54. cqle g2 2GR 69N R Q¥ gdadml I- 98 QS CaNIGD S056R 6aa Gad |4eg

-

Q|

' ’ p) 891
&) Ty ®) ogdl (C) aEeN D)
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TS -17 [ B/ Page 10 of 16

(A) FIF) 9@ QAT A2ag 2T QEQI AIFEA TN 672N |

(B) 6Q11I67 QIFOIQ gAiaIg @F A7 U0 LAV 7R aTYeR |

(C) AZAR TEHAIRY ANY (RIS FRIAIE GG BREQ ROEL g6R |

(D) AL 6RIR BIF FARIG NFELIR AELSIEI6R 9B QAR AUYIG GIR aZ2eR |

/ Q2T ARI9R6a Q281NN Q9 6RIR2Ial 6RIRAIEE Q130 @ a06m ?
(A) 326 GRQ60 ARIanea aeBalg enIedise 23 a06m |
(B) "¢] SITEIR 64 2AE 661l AT 26ATI @R6S"- YR2l 2T 9RG 2R |
(C) "QI2R, @ F'€ AARAIS?"- M9E AALFQ K68 FERIQ, AF6S 256 |
(D) 6816 S2T 9o 980 Jul ARY QARG 62RIQ ACEY 2T6m |

3/ a209 Q64191 K6 QIda 641er @G 2608l KARIQ A3RI?

(A) 62 AN6Q AINRRRI QIIF AR HINY 6RRAAIRYR |

(B) 309 6T0916Q FI6R S7¢ 629 69N ACAN FANIG G2 |
(C) 9IR 9d QUAQ QaG 6Q¢IQ 8 YIIg 6Q 26AA RARRR |

(D) 691561 98F 62 IS AR AIRA IS° QI AT gLIL B LRI |

58. Q4o Q@RI "9\, 2N FEe QIER I ALAQ ARG @8 926Q" |- YT QEJg a6aIN [P6a

/ aeedsqa Techofworld.In

(A) F64IQ1 Q@RI 69 98 LG VIES 2UF AR ARG @T 9264 |

(B) @640 QERI 64 §F, 2IAE QG QIER 2iFl A2QQ ARG 78 @F6< |
(C) B64191 9EG @ERI 2ITE FAC BI6R ARNAE LA ARG &8 2T6R |
(D) @65I61 @BG @8R 64 GEe NI6R 6Q OI' ALQQ EAING &7 F26Q |

59. qeqe CRINAIGE G6aI A6] KIER AZIFY 98 GRAIG AIRR FRARLER ?
(A) 2299 FEFIFY AT EAIR ANIARY TG 62 ACT QA6 |
(B) A2aq D9 QIIER 62¢! 6QIRIYQ! S2Gq 69 AR *RZEM |
(©) @250 ageaR QAIGREI] AR 9F @EQl 210 Q8 @ geR |
(D) @640 S2T QI elalg HIQIEQR ANYRG 2T @ ! |

60, qaqca 9IaZIce QUBERI 64 6eNeage AABT I 12 664 gRIR QI fdia @a |
/ (A) AQR (B) 6415 (C) §5% (D) 641685 g6¢
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?}/@éﬂ;sa @eR, AGAaE, AGAYR, 6RINYS 1G° IR FRIEA SATI 6RLIN 2t FIRIgIe 955 | (4219

A0 QAR VIVIBA 52 F0)
(A) A mandal jail exists in Cuttack, Mayurbhanj, Sambalpur, Korpaut and Ganjam districts of

Odisha.

(B) There is one Circle jail each of Cuttack, Mayurbhanj, Sambalpur, Korpaut and Ganjam
districts of Odisha.

(C) A mandal jail is there in Cuttack, Mayurbhanj, Sambalpur, Korpaut and Ganjam districts of

Odisha.
(D) There was a jail circle in Cuttack, Mayurbhanj, Sambalpur, Korpaut and Ganjam districts of
Odisha. 6\46‘4 .

b?ﬂ/{é@e@]%‘ TR AAUSIAG 679 AT FIER FIANIR FOR FANNZF 1(N2IQ A0 AR AITISA HFE Q)

(A) Mandal jail has been built above some district jails.
(B) A district jail has formed with some mandal jails.
(C) A Circle jail has been constituted with some district jails. WL~
ircle of jaikhave constructed for some district jails.
f/ F6CI8 AT (I 48 AING Fec aa | € " 2ol &
(A) TN G648 TRAIRTA QIO TRI69 2lge I |

(B) 2GRN g6S4@ TRIA QIO ARIEa 2ige QIF | ) Qﬂg\
ErBifeR 6qlad Sriniesa Q0 aeiee 2ige 21d | (% 199258
(D) UIFAAR 6G161T TRIQ A0 ALI6R 2Age Q1T |

%INIQ@@E YRPR AARRIIAING ARSI AAGISARE QIR AR RTAER AHIRAN | (N2IQ A0S SEQIST

RVIQ FLG AG) p

(A) Generally, serious offenders are kept in the circle jails for better upkeep. &<
(B) Hardened criminals are kept in circle jails for better maintenance.

(©) Persons with serious crime are always housed in mandal jails.

‘6; Casual criminals are normally kept in the circle jails. TeCh OfWO rI d : |

95. 8] Qge R AIeE IR 6RU6 59 QAL AL G6% 526 q |
A) gage) B) RS (C) A9 (D) Q&G
%(GGJI@ J2 CAIBAINE FAUQ 6968 AMAIRE 86 601w 620 AIF 596 a4 |
(A) 2I6RITE — 2dE - (B) QA1 - ULEE () F6RIR - F6RIAS (D) 98 - g
67. 938010 @Idin6R, GAIP @ U8R H67 | - 1T QIRYER CQUIEE 6R9 A6E AQATRI o ?
“  ® (© @O Pt -
68 4on JAIARa IASIRRI QIdQ AR JE FRIdE AUEQ RIS 2T | (YLIR A0 AN AUV 596 FaY)

(A) Jail administration is vested with Home Department. =
(B) Management of the jail administration vested with Home Department.
(C) The management of jail administration is vested with the Home Department of Government.

(D) The charge of jail administration lies with the Home Department of Government.
®9. J6cIe aRGeaanieon AuQ cadten g8 AR Ada @ |

(A) 9 + 2RJIeF e (BY€Q + QI = el
©egraq=ade - ) (D) g8 + &3l = Q&3

Sy
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yfqmﬂmr QEEIEeRa lel gEsia GRIEA 696N 6MVN BRI PIIGIA 28 | (veie aBe AU AR GLG -+

R93) N

(A) A jail is there in all district to keep the jailors. Te Ch OfWO rl d ) I n
(B) There is a prison in every district to preserve the Jallors_,

(C) Every district has a district jail for the upkeep of the prisoners.

(D) All districts have district jails for maintenance of the prisoners.

Section - D : Mathematics & Reasoning : 30 Marks

71. The average age of the three boys is 15 years. Their ages are in the ratio 3:5:7. Then what is the
/" age of the oldest boy?

SelE QIeas 2IQIRE 994 15 @F | 6a7IRE QAQR AgAIe 3:5:7 | 6962 AZY SO% AIFIA 29Q
6R6Q ?

(A) 7 years (B) 14 years (C) 20 years (D) 21 years

72. A candidate scoring 25% in an examination fails by 30 marks and another candidate who scores

50% marks gets 20 marks more than the minimum required to pass. Find out the minimum
percentage of mark required to pass the examination.

CQI5 CR1AIER 968 QIgH 25% €IS 6 30 FIS QIR 6TR 62R! NG° AR |66 50% 9F ALFF €I AIR0IQ

20 716 29 QYR | 6969 1A FEE! AIR ASRE) 6766 gEE AT 2aqia fda @al
(A) 20% (B) 80% (C) 40% (D) 50%

73. An alphabet series is given with one alphabet is missing. Choose the correct alternative that will
continue the same pattern and replace the question mark in the given series A, E, J, P, W, 7.

98 QIR G760 691ITN 2SR AURS QIF | A0 JaE AYAT Fda @a AR 698 §71q IR QY 9e° A,
E,J,P, W, ? 48 976 221 g4RIeR 599 9Eean /adRe |
(A)Q ®)C (OE

74. Find the valuc of a*+b*+c*-3abe when a= 225, b = 226, ¢ = 227;

QG a =225, b =226, c = 227, 666, a*+b*+c’-3abe @ FJAN Gla @a |

(A) 2304 (B) 2430 (D) 2340

)
75. The cost price of an article is 64% of the marked price=What will be the percentage of profit after
allowing a discount of 12% on the marked price?

D) G

6AITN FRTQ G4 FJMY RGIS RN 64% | RS A ATCR 12% LT 6GITER IORR| AR 6R6E 6297
(A)37.5% (B) 48% (C) 50.5% (D) 52%

76.Rs.1200 amounts to Rs.1632 in 4 years at a certain rate of interest. If the rate of interest is
increased by 1%, it would amount to how much?

QI FE8 QM 2AREA 1200 671 4 RF6R 1632 1 g4 | 9F QIO AR 1% 98 *IAI, A9 OF| 6069
oI 9F 6297

(A)Rs.1635 [/ (B)Rs.1644 (C)Rs.1670 (D) Rs.1680

77. Qut of the five fi éures given below find out the one which mismatches with the others?
e gaa QI5G SEFIRE FUIQ 699 995 URY GIEAIT FRLIRE QTG UCAR 6208 SI2l 95¢ @4 |

g O o gn il Ay
| ﬁ‘(Z»JP |

I | | | o o ey e [

[
£ 4
ppt bfsbes N
te - L
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78. A sum of money is to be divided among A, B & C in the ratio 2 : 3 : 7. If the total share of A & B
-together is Rs.1500 less than that of C, what is A’s share in itﬁ?
GEORIQA, B GCAuER 2: 3: 7 UZAIN6R 998 GARIG 629 | AF A 6 B @ @191 68 C Q @501Q 1500
oFl 8¢ 9, 6069 A QA RUG ERES 7
(A) Rs.1000 (B) Rs.1500 (C)Rs.2000 (D) Rs.2500

79(If a sum of money at compound interest amounts to its thrice in 3 years, in how many years will it
be 9 times of itself? )
AR 6AET ARG 0FQE Qa6 ©I'Q TFYE §'9, 6661 6@6T TER V12 BI'A 9 Gl 6297

(A) 12 years (B) 6 years (C) 9 years (D) 15 years
80. The average age of A & B is 20 years. If C were to replace A, the average would be 19 years and
if C were to replace B, the average would be 21 years. Then what are the ages of A.’. B and C?
A BB @ 2QI213 994 20 /d | 9§ C, A 99069 Q62 6ATIE LRAUTIR 294 19 Q€ ¥8° 94 C, B @ 99m6q
G5, 6ARIRE AR 9021 9 94 | 6969 A, B 8 C & 96 60667 5
(A)22, 18,20 (B) 18, 22, 20 (C) 22,20, 18 (D) 18, 20, 22

g //
81. Exactly one number is wrong in the series 3, 9, 21, 45, 93, 191, 381. Find out the wrong one. &)
2221, 45,93, 191, 381- 1€ ea 6915 QoI §R 218 | 698 gR QIS 6agE?

(A4)3 (B)21 (©) 93 (D) 191

82. Raghu jogged 2 KMs southwards, then he turned right and walked and jogged 8 KMs. In which
direction was he seen moving last?

gl @8 Qog 2 &F 6§150, oraca 6a QI G0 9RQAR AW 9=° § A7 6FITN | 6AT6R 67R 96D 6
QRPYR 6SIITIR | "

(A) West ' (B) North (C) South (D) East

83. The LCM of two numbers is 39780 and their ratio is 13:15 . Then what are the two numbers?
9RC Q°HIIQ AAIG 39780 e 6ATIREA AGAIB 13 - 15 , 6961 63T Q| 9RG 6063 7

(A) 2652, 3060 (B) 273,315 (C) 585, 675 (D) 2562, 6030
84.Tn a certain code BOND is written as 9©35 and DAZE is written as 5@72. How is ZONE written
in that code? '
6219 AICTER QIBISR BOND § 9035 49° DAZE § 5@72 9U6S 6RHIAI | 698 Q6569 Q19168 ZONE
Q GG ANARAIRS ?
(A)2073 (B) 7©23 (C)7©32 D) @732
85. A, B and C start a business, each investing Rs.20000. After 5 months A withdraws Rs.5000, B - -

withdraws Rs.4000, and C invested Rs.6000 more. If at the end of the year a total profit of
Rs.69900 was recorded, what is the share of B?

A, B 8 C g646@ 20000 S 6R%IN GF6RI @8 6915 QUaQI0 210 998 | 5 AIaTee, A, 5000 G, B,

4000 GG JGHIZIQ KREREM 92° C, 6000 G| 2@ TFEAIT AR | AT 9F 6HIS6Q 67T 69900 TF AN 9,
6969, B Q Q9 6866 6297

(A) Rs.20500 (B) Rs.21200 (C) Rs.27300 (D) Rs.28200

8. In a mixture of 60 litres, the ratio of milk and water is 2 : 1. If the ratio of milk and water is
required to be 1 : 2, what amount of water has to be further added to the mixture? .

IR 60 Qe FGE16R D10 6 G AGUIS 2 1 1 | 910 6 @01 2QAIe | : 2 §A]IY IR 696E AR a‘-"ﬁ? k-
AeIBag o - Techofworld.In
(A) 42 Yigre (B) 56 litre (C) 60 Litres D)7

il
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4
87. Find out the Square root of 105 =
2 g o Gda ea |
105 @ S4I7R A9
- ®)152 " .
(A)154 4 ( )104 (D)6z

88. Triangle represents School Teachers. Square represents married persons. Circle represents

persons living in Joint families. So, what represents the married persons living in joint families
but not working as school teachers?

69 gee 0e6a GRS M SRR 9BRYR F6a | Adeag FQIRe 19 9ERNR 96a | QeRe YRIRee
ARRIREa AFRYS! B U1 | 6361 IRIRQE ORGSR AZERI AF IR TR 629 @ Y9 TS B B

were®  Tachofworld.In

(A)F (B) A <[4
" ©cC (D) D 1
89.

The sum of the digits of a two digit number is 12. If the digits are reversed,
decreased by 18. Find out the number.

4@ 9R UF FIY ATMIQ ASCIEE AT 12 | 97 2R FIGF QIR 9FRGR SaIA, A°HYIF 18 SFAN | 6969
QT 69687

(A) 75 (B) 93 (C) 84 (D) 57
A certain sum of money at simple interest amounts to Rs.1260 in 2 years and to Rs.1350 in 5
years. What is the rate percentage of interest per annum?
6ql6Q FRE AGR PUAAREA 2 QUER 1260 ST I8° 5 2F6R 1350 671 24 | 6669 QTR QIR 2R 96q4!
e@ee ? :
(A) 2.5% (B) 3.75% (C) 5% (D) 7.5%
91. The difference between the compound interest and the simple interest on a certain sum of money

" at 8% per annum for 2 years is Rs.4. Find out the sum. '

QTR 8% 2196Q 2 T6R 6T1KIA GRUAR 09T QI 6 AR QY RIS AR 4 6FI | GRue ABAIE Ada

the number is

90.

@a | >
(A) Rs.625 - (B)Rs. 1260 (C)Rs.312.5 (D) 651635 ges
92. If x +y = 1, what is the value of X’ + y> + 3xy?
Q@ x +y=1,6069, x*+ ¥y +3xy QI 6667
(A)-2 B)1 (€2 (D) 3
93. X is the sister of Y. Y is the brother of Z. Z is the husband of P. O is the father of Y. How P is
related to O? . _ _ ]
Y Q@i X266 Y, ZaRa 263 PQYAIE228 Z 1 O, Y Q QIdl | O Q¥e P @ 9de @ 617
(A) Sister (B) Daughter-in-law  (C) Daughter (D) Uncle
94. Good Conductor : Copper : : Bad Conductor: _ ?

;. (Select the appropriate word from the alternatives given below to fill up the 2ap/F6IB 49 AIRE

G o8 q0iGe 599 @9
F1IQ 696 g7 AIF Jod @adiae Q%¢
(A) Iron (B) Aluminium (C) Wood (D) Coal
9. How many meaningful English words can be formed with the Letters-ATME?

ATME _ (3 2@aeIRg QIeeIa @8 6a60IT 294 araIat 48 SRR ARQ? .
RO\ 1 Bpese (B) n i ©) 3 (D)
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96. Find out the greatest number of three digits which when divided by 3, 4 and 5 leaves no remainder.
56 @ 6% 92an AT Fda a9, AI2IY 3, 4 6 5 TRl ATGER 6318 RAVCAY & QIF |

(A) 960 (B) 860 (C) 690 (D) 680

, 97. Two numbers are respectively 20% and 50% more than a third number. What percentage is the
first of the Second number?
gad avetil, 65ICN go1a ABHIR L2IFEF 20 % Ia° 500 AY@ | 6969 g Qo

- Techofworld.In

(A)60% (B) 70% ©80%.; . .. " D)o0% -

98. [dentify the correct one of the Answer Figures from which the pieces given in the Question
Figure have been cut?

geq 688 99FIRT AR 696 049 94 Ogs 2Ie g arle SugIeeE Q12 Gda @q |
Question Figure® * '

o Answer Figures '
1 - Tk
Q ; U _A |

(A)F (B) A ©C oD TV
9. The profit earned by selling an article for Rs.832 is equal to the loss incurred when 'the same

article is sold for Rs.448. What should be the sale price of the article for making 50% profit?

67161 @g 748 GEIsq SaM 6068 §F 94, 6I'Q 832 GFIeR AR 6255 QIR 29 | 696R,50% QIR

dIRRIq 6Ia @94 AR 6R6% AYIF 629 2 . f W w
(A)Rs.960 (B) Rs.1060 (C) Rs.1200 ~ (D)Rs.920

00. A reduction of 20% on the price of mangoes enables a persoh to purchase 12 more for Rs.15..
What was the.price of 16 mangoes before the reduction of price?

27 @8 20% LY 6LQIFIRI F66 B 15 SFIER Y@ 12 & 21 Q8919 9nE 94 | @R YA62RI 999 16 §
\"\
IR Y @°€1 g ?

(A)Rs.5 (B)Rs.6 - (C)Rs.7 (D)Rs.9

YIS §o10 eI sage
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